BB SR

TibXBEIESEEG. [BEEmiEtdDENEN0. BoTR

| UNP I

. ABEOA

%ﬁﬁﬁﬁﬁﬁﬁéi?\ﬁmﬁjﬁ REVRTIE T

(1

\HEER DEfBE CBtONRIBEEN BN RLN D ZD O E

HOBUDBEICET DI L] 281

“JEEE G

REHHHBENERT XEREIRESE (RNERIT)

VAN
/0

)
O)

F A B

STES

A

0%

S20. 6 ~7H

S20.11

S21.10. 3

18 18565

MEfTHbX578.8haZ RE

S26. 5.23

2 4385

MefTithX&258.1halCZE

S29. 5619

2 8765

[EfTHXZ241.9halCZEsE

S45. 9.16

2 6095

fEfTitbX & 242halC&EE

S46. 4.30

RASHRRBNDDRE

S47. 3.21

$£25 I

S50. 6.30

F15 1

@ SBXROBE

I X %

B &)

bl

EIES

1ithis
2 "

il

] Z

£ 1 SHhX

1,978,663.51

S50. 6.30

7,634

6.479

5,825

AT - T - RED - BEBHXOE—E

%2 SHhX

291,388.42

S47. 3.21

1,070

1,012

814

S D—EP

% 4 SHhX

149,937.2

S46. 4.30

678

570

488

iBA0H R D—EB

5 &t

2,419,989.13

9,382

8,061

ri2r

® FRESNENHHMER

2 M| L

B B

5

XS

B

7K S

/A\

n FHE

Efa ()

20,529

339,913

366,808

24,845

817

82,054

3,124 4,393 | 842,483

B =

D2

BSRA0
{ESERAD

18E8#R
fER
13,848m

palai

SER
47,196m

fER
13,377m

14 neR




@ BEE

% W EE £ @ @ IR A E B £ @ @
NHERERE 203,059,137 BEEaEE - #wh=E 261,815,600
% o&-B R B 377,357,552 ] B 390,696,432
2 o B = 8,559,617 s B 149,787,864
o= % o B 31,679,309 RBHLH e 202,354,000
o # = 138,730,352 S &2 0 4,246,226
= % # 249,514,155

& = 1,008,900,122 & : 1,008,900,122

(2) EESRIFHIER =S T HXEEIEEE (RiE1T)
® BFE
£ 8 B ERES 7 =
$46.10. 5 m 572 FATEE  #016haiE
$46.12.11 B 9542 BLHTORE  (FETHHE155610.17m)
S51. 3.16 BN DN
@ BESINEHEER
2 # 5 K@ 2 2 B 5t
@ (ni) | 1579685 | 419384 67897 | 2669.69 | 23339.35
3 EB#R
w = 8%42%“ 6)2,2553.6fm 58 6%.8§m
® BXE

x E B8 £ 8B (T IR A8 B £ 5B (T
NEBRERSE 78,320 NHRERE SRS 489,950
% & - B f B 179,765 =} & 4,700

Hy & 208,249

o= % o B 14,636

= % & 13,678
= = 494,650 & = 494,650




RSREPEMETE) \ HR T X BERIPES (EHE1T)

® BE

£ B B sRES " =

S4710. 6 8 7172 METRE 4058 Ohazkie

S49. 220 B ois EEABORE (577.419.12n1)

S52. 7.29 8 5432 EEABOLE (573.63311n1)

S56. 5. 1 B 4012 EEHBOES (573.63311n1)

S58. 1. 4 B 4= FETERE 057 4halcZeE

S58. 517 8 4232 EEHBOLE (573.846.06n1 )

S59. 7.20 8 4812 EENBOLE (573.846.06n1 )

S59. 9.29 RIS DAL
@ HBESNE=HERESS
2 5 B N K 5 2 1 =
B (M) | 5259955 | 6675192 | 1745718 | 606679 | 630575 | 14918119

3m
R = £ & 10%79?% Sl 10%51%% 1%54.§m
2.488.1m
® =XEEH
x I8 8 58 (M) I AN I8 B £ B (T
N FHERERE 2,261,440 B # B = 1,590,000
BE BRES 801,743 A ERERERDE 1,316,000
% it & 007239 = & 707 849
T 216,802 & 5 82,151
= % & 208776
5 : 3,716,000 & : 3,716,000
27




(4)

HHEMITIC KD T XBEEESE

2 B = 2@Fs | mEameTs | Tl gB | L AEW
] & 10,185m 11,287m 6,798m 18,876.24m 8.831.81m
B35k 1589 S50. 7.1 S50. 8.20 Sh2. 7.22 S56.12.26 S59. 3. 6
o N o S51. 1.20 S50.11.28 S52. 9.16 S58. 4.25 S60. 1.29
= x £ 45,000+ 39,895+ 36,610+ 118,582+H 79,667+
[(BRES Nz Hhess

X @ & & 1,946n1 1,869n1 1,552n1 3,751.69m 1,885.94m
FER342m FER301Tm FER254m FERS554m FER311m

B W B - e S S S
A 306[ﬁ 840[ﬁ 205r_ﬁ 566.30{ﬁ 266.06£n2
1 1Pk 1 PR 1 1nef 1 1nef 1 nef
K i E— — — 48.73m 203.10m
ER == 2.252m 2,435m 1,757m 4,366.72m 2,355.10m

(5)

BAGEITIC KD T XERIESE

2EETATE | M1 TE

& 5 3.199.64n 3.776.20n
a S57.5.21 S57.9.3
w9 $58.12.17 S58. 3.28
5 % =B 14.718FM 06.321FM
[SREENT/ALEHER)

370.90nt 530.98n
B f#B SEE61.4m SEE119m
B R H B —

15101t 150.0r
/,\ =
A 1 Hf 1 Hf
X 5 30 -
B D 551.91n 680.98n

REXIITE (A

4

-REFE ()

FENTERSE(ES)

7 '[7;tmmm A
|-~






